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Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and
ensure that:
- Serial number of Question Booklet(QB) and OMR
Answer Sheet is same.
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for
replacement of Question Booklet(QB) and OMR Answer
Sheet. No claim/objection in this regard will be
entertained after five minutes of start of examination,
candidate will be liable for the same.

2. SNUHAR SOR-Ua% & W fau o afi frder o
Read all instructions on the reverse of OMR Answer
Sheet.

3. ST SU-T9% IR Had Aid aid @Ige U &1 T4 B | FHual,
gwmw—wﬁmﬁawmmaﬂwﬁwﬁ%n%

|
On OMR Answer Sheet, use blue ball point pen only.
Please, fill your Roll No. and other information correctly
in OMR Answer Sheet.

4. gt fordll wsT o T weh & ot S siferd fopd STt € o o8 e
T AT SR
If more than one response is marked for a question, it
would be treated as wrong answer.

5. ud® 9T ¥ Ui fasea/ i €1 ed R faaed/ i (A), (B), (C)
3t (D) Suga I & §afia ¥ ofx dfaat faswen/mar “(E)
‘AN ue & gefud ¥
Each question has five options/circles. First four options/
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not attempted’.
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if none of the option/circle options are darkened.
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disqualified for the exam.
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Candidate will be given 10 minutes extra to make sure, if
he/she has filled up any one option/circle for each
questions.
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e Warning : If a candidate is found copying or using unfair
means or if any unauthorized material is found in his/her
o Dossession, F.ILR will be lodged against him/her in the Police
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Public Examination (Measures for Preventions of Unfair
Means in Recruitment) Act. 2022 and Amendment Act 2023.
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1 Six numbers are arranged in decreasing order. If the average of the first five numbers is 40 and the average
of the last five numbers is 30 then the difference of the first and the last number is:
BT HEATHT I Ted W H TR 7| AT Tl gier Senstl sl STed 40 & TR el dier st 1 37 30
B AT Uge! ST 3T sy ot 3T 2:-
(A) 25 (B) 50
©) 75 (D) 90
(E)  Question not attempted / aﬂﬁﬁﬁ Iq

2 A loss of 25% occurs on selling an article for ¥ 1,800. What would be the profit percent if the same article is
sold at ¥ 3,200?
Toh o6 %1 < 1,800 H sI< TT 25% oh1 &1+ Il 21 {8 =6 21 T 3,200 ST STTefT €1 il &I 26T Jierrel o1 €12

(A 25% B) 35%
©)  30% D) 33+%
(E)  Question not attempted / aa?lﬁﬁ 99
3 The diameter of a garden roller is 2.8m and its length is 4m. If it takes 5 revolutions in 30 seconds, then how
much area will it cover in 5 minutes?
(A) 1760 m* (B) 1440 m?
(C) 1860 m? (D) 1540 m*

(E)  Question not attempted

T TS UeH T AT 2.8 Hi 3 alTs 4 Hiet 21 AT 78 30 HehUe H 5 IRGHHOT L T &, t 5 Firfe 918 fet
SAH qF HT?

(A) 1760 Her? (B) 1440 Her®
(C) 1860 "Iz (D) 1540 "2
(E) raid 9
4 Digilocker is a flagship initiative of which Ministry?
(A) Ministry of Education (B) Ministry of Finance
(C) Ministry of Electronics and IT (D) Ministry of Commerce and Industry
(E)  Question not attempted
fefsreitert forer HTerr it T Tee 22
(A)  farer daTe B) o @™
(C) TAFI-a Td 3T1E & AT (D) OIS UE ST WA
(E) 3rgaid o
5 Where is Rajasthan Atomic Power Station located?

Choose the most appropriate option from below:

(A) Suratgarh (B) Baran
(C) Jodhpur (D) Rawatbhata
(E)  Question not attempted

ST TATY] STt S el 6d 872

e o & ward 3ugeh foehed I

(A) ¥dTg (B) @R

(C) gL (D) AT
(E) SFfaiawy

RI5S| Q) 2 [ P.T.O.



6 Which is not the key vision area of Digital India Programme?
Choose the most appropriate option from below:
(A) Digital infrastructure as a core utility to every citizen
(B) Governance and service on demand
(C) Digital empowerment of citizens
(D) Promotion of behavioural changes of citizens
(E)  Question not attempted
I & “feforeet sfeam sris 1 W gy & 7 &
e o & ward 3ugeh foehed I
(A) S AT o fIC T ST o %9 H feforeet -t grar
(B) Ta-d Ug wfde A1 ferte (Wi o smee oK @)
(C)  TTiGRT o1 fefSeet Tremhrentor
(D) TR o SRR T st JeTar ol

(E) Igaia g

7 What is the minimum quorum required for a Gram Sabha meeting under the Panchayati Raj system?
(A) One fourth (B) One sixth
(C)  One eighth (D)  One tenth

(E)  Question not attempted
Tl ST ST oh & TTH HT T 53k o foTT, STTarwreh =[Aaw shiv T 22

(A) T (B) BT 1wl
(C) AT W (D) T®aT 9T
(E) a9

8 On which date second stage Rajasthan Union (Present Rajasthan) was formed?
Choose the most appropriate option from below:
(A) 17" March 1948 (B) 25" March 1948
(C) 18™ April 1948 (D)  30™ March 1949

(E)  Question not attempted
TSI HeT (SHT TSTEAT) T g8 <o fofet ferfer et i g

1 7 @ waw 3w fawed T
(A) 1747 1948 (B) 25T 1948
(C) 1837 1948 (D) 309 1949
(E) Jaid o=
9 According to 2011 census, which of the following districts of Rajasthan has the lowest population density?
(A) Bikaner (B) Jaisalmer
(C) Barmer (D) Pali

(E)  Question not attempted

2011 I SFRTOAT o SIER Frefafiaa 3 & Tsre & for et 3 S o Jed &0 82

(A) SRR (B) SEe
(C) dme (D) et
(E) Srfaia s

RI5S| Q) 3 [ P.T.O.



10  Which of the following statement is not correct about alluvial soil in Rajasthan?
(A) This soil is found in northern and eastern districts of Rajasthan.
(B) Itis light brown red in colour and has a sandy and loamy texture.
(C) Itis a fertile soil.
(D) This soil contains enough quantity of nitrogen.
(E)  Question not attempted
TSTE | STetlg gaT o 9N § Freforfiad § & S-a1 o ot 7 22
(A) %ww%wﬁwﬁﬁﬁﬁmﬁw% (B) SHHT U1 Eerehl [T AT & ST SHhT 7T SIefs gHE 2
(©) %@mw% (D)wwﬁmaazrﬁw‘qwﬁ%l
(E) raid 9
11  If ‘PARK’ is coded as ‘5394°, ‘SHIRT’ is coded as ‘17698’ and ‘PANDIT’ is coded ‘532068’ then how
would ‘NISHAR’ be coded in that code language?
afg ‘PARK’ I <5394, “SHIRT® 3l <17698” 3T ‘PANDIT’ 3l <532068’ hifed foram STTaT & @F ‘NISHAR’ &t
I hIS ST H AT hifed fomam S
(A) 261739 (B) 261789
(C) 231954 (D) 266734
(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99
12 Find the missing number (?) in the Table:

2foret W I HET (?) 1 -

2 |1 6

4 | 7 2

8§ | 5 | 11

30 | 34 | 2
A) 15 (B) 16
C) 17 (D) 20

(E)  Question not attempted / aﬂﬁﬁﬁ Iq

13 Which of the given options will complete the given series?
rer fo T forshedt # @ i foq 7T 360 6t U o
gfe ig eii_fei gf ii
(A) eifgi B) figie
(C©) ifige (D) ifgie
(E)  Question not attempted / H@ﬁﬁﬁ Iq

14  Match List-I with List-II

List-I (Indian player) List-II (Associated sport)
a. Mirabai Chanu 1. Gymnastics
b. Dipa Karmakar il. Weightlifting
C. Hima Das iii.  Archery
d. Deepika Kumari iv.  Athletics
Gf1-1 1 Foret -1 o | ity
mﬁ I (VR Raee) Tet-11 (A e @t-%e)
a. lﬂrlsré =T 1. NfeTa
b.  dHT AT i, R
c. Temram i, et
d. e HAR iv. TR
Choose the most appropriate option from below:
71 7 @ waw 3uge faecd &1 =97 Fifvw:
(A) a-iv, b-iii, c-i, d-ii (B) a-iii, b-iv, c-ii, d-i
(C) a-i, b-ii, c-iii, d-iv (D) a-ii, b-i, c-iv, d-iii

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99
R15 ] @ 4 [ P.T.O.



15 India delivered the first consignment of ‘Brahmos Supersonic Cruise Missiles’ to which country?
(A) Nepal (B) Bangladesh
(C) Philippines (D) Bhutan
(E)  Question not attempted

IR o SR GUuali-eh st foemsall” ot geet @Y fore a2 i |idt?

(A) A (B) Sfeawr
(C) Thefidia (D) ™
(E) 3rgaiid o
16  Which Indian player won Bronze medal in the R2 Women’s 10m Air Rifle SH1 event at the Paralympics,
2024.
(A) Mona Agarwal (B) Avni Lekhara
(C) Bhagyashree Jadhav (D) Deepthi Jeevanji

(E)  Question not attempted
Furfeifues, 2024 # R2 wfe 10 Hiet R Ugwe SH1 waer # foher w1 faarnet 3 e uaeh S 2

(A) HHT STETA (B) Fa i@
(C)  wmsft e (D) & St
(E) 3rgaid o
17  ‘“VAIBHAV’ Fellowship Programme is implemented by which Department of Government of India?
(A) Department of Science & Technology (B) Department of Social Justice
(C) Department of Economic Affairs (D) Department of Revenue.

(E)  Question not attempted

T HAIIT FHRIHT W G o ford T g serffear foram mam?

(A) Togm ud drenfireht fosmr (B) @IS =T faramr
(C)  3Tifefes mrHAT ot foramT (D) Tre formT
(E) a9
18  ‘PPP’ in terms of Gross Product stands for
(A) Purchasing Power Parity (B)  Public Private Partnership
(C) Purchasing Power Price (D) Public Partner Price

(E)  Question not attempted
TRl IcUTE o Tad | ot off o ahr o7ef 2
(A) 3R Tk IHaT(Purchasing Power Parity)
(B) @TdwIeh it st wrifieri(Public Private Partnership)
©C) =a Niksa HI(Purchasing Power Price)
(D) rasttes Yrier HI(Public Partner Price)
(E) raid 9
19  Which of the following is not an exothermic reaction?
(A) Formation of slaked lime on addition of water to lime
(B) Burning of natural gas
(C) Respiration
(D) Decomposition of calcium carbonate to calcium oxide and carbon dioxide

(E)  Question not attempted
1 3 & 1 it v SsTedt srfsrfsram, (exothermic reaction) &t 27

(A) =T H ST STeM WX 3 < T Fwior
(B)  TTeh{cieh 119 ol &8

(C) =&
(D) I FHISHE HT HICIRH HTFATIE I HIa SIS SATFTZE H TITT
(E) Srfaiayy

RI5S| Q) 5 [ P.T.O.



20  Which of the following is not an allotrope of carbon?
(A) Diamond (B) Hydrocarbon
(C) Fullerene (D)  Graphite
(E)  Question not attempted

3T T @ I 9T HIe BT Teh ITEY (TAISIT) &Y 22

(A) @ (B) ETESEHEH
(ORI (D) e
(E) orfaiaug
21  Oilsontreatment with hydrogen in the presence of nickel catalyst form fats. This is an example of
(A) Addition reaction (B)  Substitution reaction
(C) Displacement reaction (D) Oxidation reaction
(E)  Question not attempted
foranet Seien <l Sufkerfa o, At o, BTESISH o AT STER iy OX 9@ sl 31 I8 T Teh 3&TeL0 2
(A) FTTIcHe: STTTsRaT (B)  ufceerdt srfsrferar
(C)  foreema stfurfspar (D) ST SR
(E) a9
22 Select the bacterial species useful as single cell protein (SCP).
(A) Spirulina (B)  Methylophilus methylotrophus
(C)  Trichoderma polysporum (D) Monascus purpureus

(E)  Question not attempted

I TG STl 3T =2 ST ST Tohet HITRTRT T2 (SCP) o TeTe ST 2

(A)  feefera (B)  THoTEeiIerEer fAoeeiiz e
(C) gTgeieHT Grceqie (D) HHTEFE WIEIE
(E) a9

23 Select the seeds that are 100% pure and their bag is tagged using golden yellow colour :-
(A) Nucleous seeds (B) Certified seeds
(C) Foundation seeds (D) Breeder seeds

(E)  Question not attempted

I TSIt 3BT = ShITSTC ST 100% [ 81 & A 5ok ST 3hi Gty Wit 477 T 271 THIRIT ST & -

(A) T sk ST (fereraTd sfis) (B) I sfiw
(C) ATUR (FISSIH) ST (D) o (SteY) s
(E) 3rgaid o
24 Schy wrse o fafed suert 2
(A) 3q ®) =
© 3 (D) ==
(E) Jaid o=
25 -1 gEA-11 8 gofora i ;
i1 (3753) FE-11 (TITEaTe)
a. WX L wmed
S I aqae
c. I . 9=
d fa&= Iv. 3vig
it fow T forhedt # & Wi 3Uh 3T T :
(A) a-IV,b-Mc-I,d-1I B) a-IV,b-I,c-IId-1I
(C) a-ILb-TLc-1V,d-1I D) a-Lb-I,c-TLd-IV
(E) Srfaiays

RI5S| Q) 6 [ P.T.O.



26 frefafaa ¥ s/iv s yaieeT=h 8-

(A) ag (B) 3=
(C) fasw (D) Te=
(E) rfaiawy

27  If m and n are the roots of the equation x> + px + ¢ = 0 , then what is m”> + n> equal to?
i m 3ﬁ'{n;x2+px+q=0?ﬁwa5q§%?hm2+n2ﬁﬁga5wa?
(A) p*+2¢ (B) p’tq
©) p-2q @) p-q
(E)  Question not attempted / ﬂaﬁ'ﬁ?{ T

28  Ajay invested a total amount of ¥ 10,000 in two types of investments. The first part of investment yields a
simple interest 6% per annum and the second part of investment on 10% per annum. If the total interest at the
end of one year is 7% per annum at simple interest, then the amount invested in each investment is:

ST o 3T R o HaIRTE H 3 10,000 3 EI=T Foram| AT a7 THor=T 361 Tt 9T 6% Wica sh &0 & e S
Waﬁtﬁ%ﬂwmﬂmm%qﬁaﬁaﬁaﬁwmméﬂ% 3R e e o 37 H 3H e SATS 7% HTIRYT
aqmqtm‘eﬁ'ﬂ% Ik fawr 7 faer i s ufar 2:-

(A) T 7500; 2500 (B) % 7000; T 3000

(C) T7300;% 2700 (D) % 6250;%3750

(E)  Question not attempted / ag?rﬁ?r 99

29  Which two signs should be interchanged in the following equation to make it correct?
20+5+20x8-20=38
(A) +and x (B) —and+
(C) =+andx (D) —and +
(E)  Question not attempted
frfaftad avfietor st w& s & fore 30 9 & <1 foeel ol 1w § sIgeHT =Tt
20+5+20x8-20=38

(A) +3Mx (B) -3+
(C) =3 (D) -3+
(E) i ys

30 When was the ‘Agnipath Yojna’ introduced by the Government of India?
(A) 15 July 2021 (B) 14 August 2021
(C) 14 June 2022 (D) 14 August 2022

(E)  Question not attempted

TR TLHR G STRAT IS ol J[E Al T8 off?

(A) 15@TE 2021 (B) 14 31 2021
(C) 14572022 (D) 14 31T 2022
(E) ¥ ¥

31 In Rajasthan, what is the amount payable every month to unemployed educated girls under ‘Mukhyamantri
Yuva Sambal Yojna’ ?
TSR TS 3 Tt JeT Hefet ST oh Ted SRIST f3rfere siorenretl <t gfdwTe fehaet Tfer o 22

Choose the most appropriate option from below:

1 7 @ wa| sug fawed T
(A) ¥ 3,000 (B) ¥ 3,500
(C) T 4,000 (D) %4,500

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
R15 ] @ 7 [ P.T.O.



32 Which of the following projects of Rajasthan provides hydroelectric power?
(A) Mahi Bajaj Sagar Dam (B) Jawai Dam
(C) Swaroop Sagar Dam (D) Uchha Dam
(E)  Question not attempted

TSTEAT ST THATIRE 5 | 1§t AR SHT STt Tk Y& il @2

(A) TS IS AR &7 (B) T s
(C) TERUHMRY (D) 3=TEY
(E) 3gaild o

33 i wfdfe TeraT 8 39 areieT & fore v g 2-
A) freeErt (B) @B
(C) wmiER (D) feefimt
(E) Srfaiayy

34 Tfafed O et o= & SAdia T8 -
UNBRELELRE) (B) uftw
(©) 3T (D) THRE
(E) Igaid o=

35 1 PB (Petabyte) is equal to:-

(A) 1024 TB (Terabyte) (B) 1024 Bytes

(C) 1024 MB (Megabyte) (D) 1024 GB (Gigabyte)
(E)  Question not attempted

1 oY &ft (YereTge) sHrek 8

(A) 1024 3. &t (cuemge) (B) 1024 95H

(C) 1024 TH st (FTTEITES) (D) 1024 St st (fiTeTge)
(E) a9

36  After interchanging + and — ; 8 and 7, which one of the following equation becomes correct?
+ 3T — T qAT § 3T 7 T TER e & a1s Freferfiaa § & i a7 aefieror adt g
(A) 8-7+3x5=35 B) 7x8+6-9=25
(C) 6+8x2-7=0 (D) 8x2+7-6=9
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

37 A certain sum of money amounts to I 7,464 after 4 years and ¥ 29,856 after 8 years on compound interest.
The value of sum is:
Tk T3 gFaITaT, =Ishafeg AT OX 4 a1 o S1G T 7,464 X 8 1 oh a1 T 29,856 &I ST &, AT ST o1 A &
(A) 3,732 B) 1,866
(C) %933 (D) 37,320
(E)  Question not attempted / ﬂ@ﬁﬁﬁ B

RI5S| Q) 8 [ P.T.O.



38 A bag contains coins of 50 paisa, 25 paisa and 10 paisa only. The ratio of number of coins of 50 paisa,
25 paisa, and 10 paisa is 5:8:3. If all the coins in the bag amounts to ¥ 144 then the number of coins of
25 paisa in the bag are:

T Ot 5 At 50 U9, 25 T SR 10 T o ek 81 50 99, 25 T ST 10 T 3 e ol Hem &1 37umd 5:8:3
B1AfE Ot § i forarenl T AM R 144 &, T 1 7 25 TT o forarent ot wE Bn-
(A) 150 (B) 240
(©) 260 (D) 280
(E)  Question not attempted / aa?lﬁﬁ Iq
39  Which of the following in spreadsheet is a method of arranging the data in ascending or descending order?
(A) Filter (B) Sorting
(C) Auto Sum (D) Logical operator
(E)  Question not attempted

frafafaa o 8 o a1 Wesfic 9 Srer sl 3T AT ST ohd H oFafead sid i U faefl B

(A) Theet (B) @ifdm
(C) 3feraw (D) QATToohet ST
(E) a9
40  Which of the following is a system software?
(A) Excel (B) Power point
(C) MS word (D) Linux
(E)  Question not attempted
ffeafad & & o a1 foey diredr 22
(A) THE (Excel) (B) Ul UE<E
(C) wTEdE (D) e
(E) a9
41  Which of the following printer is noiseless, high speed and of high quality?
(A) Typewriter (B) Dot-matrix Printer
(C) Inkjet printer (D) Laser Printer

(E)  Question not attempted

fTreafefaa § @ o a1 w fifey; eaf wfeq, == i ST 3= orewr arer 82

(A) CTEWIZR (B) renfeam fiex
(C) Fohie fiiX (D) @R fieT
(E) rgaid 94

42  Which function key is used to edit cell contents in spreadsheet?
TSNS H U FromgH 1 HTTA A o A forer dherat it ot SO foralm ST 22
(A) F5 (B) F2
(C) Fe6 (D) FS8
(E)  Question not attempted / \’ﬂflﬁﬁ_cf Iq
43  If 12 boys or 18 girls can do a certain work in 14 days, then in how many days will 8 boys and 16 girls do the

same work?

AfE 12 S ST9aT 18 ASfehT forelt href bl 14 ot W o o Wbl €, 1 8 TTgeh U 16 wrforal 36t e i fopat
Tt o g e

(A) 7 B) 9

(©) 11 (D) 13

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
R15 ] @ 9 [ P.T.O.



44

45

46

47

48

49

In a triangle ABC, AB = BC and length of AC is «/5 times the length of AB. If the perimeter of AABC is
(14+7 «/5) cm, then the area of AABC is -
T# B ABC #, AB = BC 3R AC & T, AB ol @ws % 2 A1 1 e AABC %1 ufwm
(14 +7 /2 ) & &, T AABC %1 8% & -

49

(A) 59 cm? B) & cm’
(C) 69 cm? (D) % cm?
(E)  Question not attempted / 311?”?6 Iq
If PQ || RS, then find the value ofa+b +c
& PQ || RS, @ a + b + ¢ T A 10 L
Pe Q
: C

b
Re M

S
(A) 180° (B) 270°
(C) 360° (D) 280°

(E)  Question not attempted / H@ﬁﬁﬁ Iq

Choose the most appropriate passive construction of the sentence given:
Everyone knows the facts of the case very well.

(A) The case is known to everyone very well.

(B) The facts of the case are very well known.

(C) Everyone is known to the facts of the case.

(D) Everyone knows the facts of the case.

(E)  Question not attempted

Choose the most appropriate articles to fill in the blanks, where applicable:

Itis pleasure to do business with such efficient organization.
(A) x,the, an (B) a,the,a
() a,x,an (D) x,x,an

(E)  Question not attempted

Choose the most appropriate option to fill in the blank:
student in the class passed the examination conducted in the month of April.
(A) Al (B) Every
(C) Very (D) None
(E)  Question not attempted

AT’ H -1 THE &7

(A) TRy (B) IVE
(©) 38 (D) fa
(E) Srgaiaug

RI5S| Q) 10 [ P.T.O.



50

51

52

53

54

55

56

frfafaa & 6 o T I s T 82

(A) =g (B) @A

© D) =

(E) Srgaiaug

Choose the most appropriate English translation of the given sentence.
EEEEIREEI N

(A) Why she is weeping? (B) Why is she weeping?
(C) She why is weeping ? (D)  She is weeping why?

(E)  Question not attempted

Choose the most appropriate reported form of the given sentence:
He said to him,”Is your name not Robin?”

(A) He inquired whether his name was not Robin.

(B) He asked if the name was Robin.

(C) He said that wasn’t his name Robin

(D) He asked if my name was Robin.

(E)  Question not attempted

Choose the most appropriate option to fill in the blank:

When my friend came to collect her books, I was a little embarrassed as I only one out of the five
books that I had borrowed.

(A) read (B) will have read

(C) hadread (D) haveread

(E)  Question not attempted
Choose the most appropriate option to fill in the blank:

The police officer stopped us and asked us where

(A) were we going (B) are we going

(C) we are going (D) we were going

(E)  Question not attempted

Which ministry launched the ‘Capacity Building on Design and Entrepreneurship (CBDE)’ program?
(A) Ministry of Finance (B) Ministry of Education

(C) Ministry of Defence (D) Ministry of Home Affairs

(E)  Question not attempted

formr TaTerr 3 “festrea o7t Sarftrar ux ermar fmior (ot st €t $)’ Freierm yrey (&) foram?

(A) T Hamera B) Tarer wae™

(C) &I HATe (D) TR HATH

(E) Srfaiaws

Which of the following is not a space mission launched by ISRO?

(A) Chandrayaan (B) Mangalyaan

(C) Aditya-L1 (D) Space-shuttle programme

(E)  Question not attempted

71 & & 3619 91 9 (ISRO) g <= feha T sfafeey frer = 22

(A) =TT (B) I
(C) sl Ll (D)  3dNeT 1T ik (T I12e)
(E) Srfaiayy

RI5S| Q) 1 [ P.T.O.



57  The main function of a GPS system is:

(A) Weather forecasting (B) Navigation and positioning
(C) Satellite imaging (D) Space exploration
(E)  Question not attempted
Sft. . T/ (GPS) YorTedt 1 7 & &:-
(A) HiEH & (B)  rear (Afamer) 3R feufa v yar sET
(C) 3T N (D) fafeet st
(E) orpaiaug
58  The name of global satellite-based navigation system developed by the United States is
(A) GPS (B) Galileo
(C) BeiDou (D) GLONASS

(E)  Question not attempted

et (USS) 31T forenfera <t Tt Siftres Swre - strenfia Ao (AfamrerT) omeft 61 = 8-

(A) GPS (B) Ticfifer™ (Galileo)
(C) o%al (Bei Dou) (D) TAFTE(Glonass)
(E) a9

59  Choose the most suitable word to complete the sentence given:
A person who settles disputes/disagreements is known as an
(A)  Altruist (B)  Arbitrator
(C)  Anarchist (D) Ascetic
(E)  Question not attempted

60  Choose the most appropriate word opposite in meaning to:

CHIVALROUS
(A) Gallant (B) Discourteous
(C) Defiant (D) Brave

(E)  Question not attempted

61 ‘TEme o iy fawse 2-

(A) S+ U8 (B) I+
(C) FeM+ 38 (D) 3 +3TME
(E) Srfaiaug

62 ‘foeae wrafty faeae 2-
(A) fo+3= B) fr+3=
(C) dr+v7 (D) ot +3g
(E) rJaid 94

63  TrefcIRad & =i sgsiife waTe 1 3T 4 27
(A) =R (B)  =Ishufor
(C) s (D) Fravft
(E) 3rgaid 9

RI5S| Q) 12 [ P.T.O.



64  Which is the fastest train in India?

(A) Shatabdi Express (B)  Gatimaan Express
(C) Duronto Express (D) Vande Bharat Express
(E)  Question not attempted

I T FeT o 77T <l o i &t 22

(A) STTSET THAYH (B) T TS

(C) T T (D) S T TFE

(E) 3rgaiid o

65  The Supreme Court has ordered the Rajasthan Government to shut 68 mines operating within a 1 km
periphery of the critical tiger habitat of which tiger reserve?
(A) Dholpur-Karauli Tiger Reserve (B) Ranthambore Tiger Reserve
(C) Sariska Tiger Reserve (D) Ramgarh Vishdhari Tiger Reserve
(E)  Question not attempted
Heltodl AT = TSTEAT T T Tohd ST STHARTT o HewUl aTe STETH o 1 fhaIHiet o SR H =ct T 68
G ol oG A T ST T 2

(A)  HIAq I T e (B) 10wt orgr fierel
(C) wTiEen 2gR fisd (D) TG fowert e s
(E) 3rgaid 9
66 %!Jrsi!Jr%Jr ...... is equal to -
%+%+%+ ...... %BW%—
(A) e (B) 2e
1
© = (D) ¢?

(E)  Question not attempted / ?ﬂiﬁli?a Iq

67  The perimeter of an isosceles triangle is 32 cm and length of each of the equal sides is % times of the length
of base. What is the half of the area (in cm?) of the triangle?
e TATaTg By 1 R 32 e ¥ S T A ot 1 e e A e A 2 o 31 gt
St T 1T (T2 ) T R2
(A) 38 (B) 42
(C) 48 (D) 24
(E)  Question not attempted / ﬂ@ﬁ'ﬁﬁ 99

68  Freferfian i apg ferfae wreq 3-

a @Eﬁr

b. e

c gefisT

d. s

e. THE
et feq T forkedt # @ wariferss 3uge S I :
(A) FacT a, b 3 ¢ B) FacT a, ¢ I e
(C) waatb, d e (D) @b, ¢ 3 d
(E) 3rgaid 9

RI5S| Q) 13 [ P.T.O.



69

70

71

72

73

74

75

frfafiaa # 3 fofaa o &-

(A) HUqF T gear gl (B) € %8 G & Hehall 2
(C)  HYHTT 3T IS (D) W 9 gtaH &l

(E) Srfaiays

e T TETe o1 wet 37 2

(A) T H gy e (B) 2T 3TQHT

(C) Wit & A= (D) AU HAT

(E) a9

ST 1 T hIE BT 7 L TR GO ATk bl 1 ST o o, ST et &1 e et shid-1 forarm gieit?
(A) e fopam (B)  Swumedes foram

(C)  3TpHeh foram (D) Gy foRaT

(E) 3Tl o=

Which of the following view shows margins and the rulers?

(A) Review (B) Page Setup

(C) Page Layout (D) Normal View

(E)  Question not attempted

ﬁﬂﬁ%ﬁﬁﬁﬁﬁ@(@ﬁﬁﬁﬁ(Rﬂers Yeh! gITTaT 82

(A) ﬁWﬁ\(Review) (B) U ®E™ (Page Setup)
©) ST AT (Page Layout) (D) EIE (Normal) s
(E) a9

Which among the following keys is used for checking grammar and spelling in M.S. Word?
T T IS H SATROT TR T oht STl o for ffetiiad o & for dhsit ot SoaiiT forarm e 22
(A) F9 (B) F3

(C©) F5 (D) F7

(E)  Question not attempted / agﬁﬁﬁ B

Which of the following is an output device?

(A) Mouse (B) Keyboard
(C) Speaker (D) Joystick
(E)  Question not attempted

frfafaa o & =i a1 3TSeye fearsw &2

(A) w=E (B) FEE
(C) ¥ (D) SafRes®
(E) orfaiaug

When did the Portuguese take over Goa?

QTR = T 9T SAfeehr et fopam?

(A) 1506 (B) 1510
(C) 1518 (D) 1526

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

RI5S| Q) 14 [ P.T.O.



76  Which one among the following is not a salient feature of the Indian Constitution?
Choose the most appropriate option from below:
(A) Lengthiest Written Constitution (B) Dual Citizenship
(C) Integrated and Independent Judiciary (D)  Universal Adult Franchise
(E)  Question not attempted

frfofiaa & & & € IRdT Sfaam it e fowre 728 82

frfaiaa & & waw I9g fawed I

(A) w8 e foftaa dfem (B) 3l AnTiERdT

(C)  TEhIshd IR T =ATdTIcTeht (D) WTAifireh oIk TATferer
(E) Srpaiaug

77  Choose the word most similar in meaning to the underlined word in the sentence:
The acerbic remarks of the boss were unwarranted as she had put in a lot of effort in preparing the presentation.
(A) whimsical (B) bitter
(C) appreciative (D) childish
(E)  Question not attempted
78  Choose the word most similar in meaning to SPURIOUS from the options given:
(A) soiled (B) incessant
(C) unauthentic (D) considerate
(E)  Question not attempted
79  In which generation of microprocessor ‘VLSI’ chip (32bit) is used?
(A) First (B) Second
(C) Third (D) Fourth
(E)  Question not attempted

ATSShITIEER it fhe fidh 7 ot ot wm o2 o (32 fore) o1 Su= foram i 22

(A) I B) fed=
(€) T (D) g
(E) i@ yy

80  Choose the odd one out from the given options.
faw 7 forspedtt © § STETA forehed T == -
(A) (11,143) B) (7,67
©) (5,35 (D) (13,195)

(E)  Question not attempted / ﬂﬂﬁ'ﬁﬁ Iq

81  Pinki scored more than Rakesh. Yami scored as much as Dimple and Lalita scored less than Manju. Rakesh
scored more than Yami and Manju scored less than Dimple. Who scored the least among the given persons?
(A) Rakesh (B) Lalita
(C) Yami (D) Manju
(E)  Question not attempted
TUfehl = TreheT & 3ATereR 37k ST foh) AT = TPt oh SRS I ATCTaT = HS] & 3w 37eh WTH fohw) TrehaT < ATt & Sfereh
HIT S A foraet & &1 375 WTH foh) 37 © forer @t e 3ie T foh?

(A) T (B) @ferar
(C) (D) =
(E) Srfaiayy

RI5S| Q) 15 [ P.T.O.



82  Pointing towards a girl in the picture, Sunita said, “She is the mother of Neelam and Neelam’s father is my
son”. How is Sunita related to the girl in the picture?
(A) Daughter (B) Niece
(C) Sister (D) Mother -in - Law
(E)  Question not attempted
T, ¥ U TAgeh! sh1 ST RN Sl T G = e, “T8 IeTw i /I ST & ST e o6 Tarst 350 T 871 geArar
fohe TeRR el o TSkl & Halerd &2

(A) == (B)  wiSft/sTefistt
©) == (D) 9™
(E) 3rgaid 9

83  The main components of dettol are -

(A) Chloramphenicol + Glycerol (B)  2-3% solution of iodine in alcohol
(C)  0.2% solution of Phenol (D) Chloroxylenol and Terpeneol

(E)  Question not attempted

fedter o mer Tew & -

(A) FANFhIRI + fierier (B) UchIEA H SRS ol 2-3% faera=
(C)  TreTet =1 0.2% forera (D) FARITRIHTST Ua Uttt

(E) a9

84  Select the most appropriate statements about human insulin.

a Human insulin is made up of two short polypeptide chains.

b. Two chains are A and B chains.

c. Two chains are o and Y chains.

d. Pro-hormone contains extra stretch of C-peptide.

e. C-peptide is present between two chains in mature form of human insulin.

Choose the most appropriate answer from the options given below:
(A) a,candeonly (B) a,bandeonly
(C) a,banddonly (D) a,b,dandeonly
(E)  Question not attempted
TS S o Haw H Heid IRTh HU I =TI 1T -
Wwa@ﬁm@wﬁww@m%
2l #Eet A 3TR B @ 8|
c. 3 YEATE o I Y AT B
d. YT B (NEMHH) § C - YeTse 1 s @ue/gehel 2 2
Y- UeeT3S 3T HEATSA! o Wed TiTad &9 H W S H SUTed 8T 2l

[¢

IS

ﬂ%mwﬁw}ﬁﬁwﬁwmwaﬁ

(A) FacT a, ¢ 3 e B) Fac a, b 3T e
(C) waca, b3 d (D) wdcta,b,d3e
(E) Srfaiays

RI5S| Q) 16 [ P.T.O.



85 2Mg+0,—>»2MgO
In above chemical reaction, the Magnesium metal is

(A) Reduced (B) Oxidised
(C) Dissociated (D) Displaced
(E)  Question not attempted
2Mg+0,—>2MgO
STk ferfia Tremrfes sTifsran 4, Aifimm ang g el
(A) =R (B)  ATEIRa
(€) fofsa (D) faeenfua
(E) 3rgaid 9
86  Which of the following statement is incorrect for a chemical change?
(A) A gas may be evolved. (B) Heat may be produced but never absorbed.
(C)  Sound may be produced. (D) A colour change may take place.

(E)  Question not attempted

Tk TETA TR TN o TolT e § O 19 &1 oo gel T8t 2
(A) U T Scafsid &l gehdt 2

(B) T 309 ol Uil & T SAARNTA et off T2 Bt 22
(C) o™l 3ea=T & Tehdlt 2l

(D) QT UiEd 2 TehaT 2

(E) Srfaiawy
87  Honeybee culture is called-
(A) Silviculture (B) Apiculture
(C) Sericulture (D) Lac culture
(E)  Question not attempted
TG TTe %I T ST 8-
(A) Tacdisher (B) udishe=R
(C) wwe (D) T (ATE) FHT
(E) i ys

88  The correct sequence of different steps of polymerase chain reaction is -
(A) Annealing —> Denaturation — Extension  (B) Denaturation —> Extension —> Annealing
(C) Denaturation —> Annealing — Extension (D) Extension — Denaturation —> Annealing
(E)  Question not attempted

TSt 2 sttufsrn 8 fafr i s et s 2 -

(A) Tt — fAfesrr — wEr B) s — war — Tt
(©) faftwer — wiifeiT — faear (D) foar — fafesreor — et
(E) i@ ys
89  The Calligraphy of the Hindi version of the Indian Constitution was done by
(A) Vasant Krishan Vaidya (B) Nand Lal Bose
(C) A.V.Thakkar (D) H.C. Mukherjee
(E)  Question not attempted
TIRCRT ferert o fewt Eeeheor b ot ECRERIKRIRY
(A) TG FT I (B) < ATT I
(C) Tt 3FR (D) T T g
(E) i@ yy

RI5S| Q) 17 [ P.T.O.



90  Who is the present (as on 01 September, 2024) Chief Minister of Rajasthan?
(A) Bhajan Lal Sharma (B) Vasundhara Raje
(C)  Ashok Gehlot (D) Bhairon Singh Shekhawat
(E)  Question not attempted

TSTET o A (01 Rdr, 2024 3 fo) Teawsft i 22

(A) 9IS TS I (B) IHIUUS
(C) 72N Teard (D) Wi e T@mEd
(E) orfaiaug
91  The temperate forests called ‘Sholas’ are found in which of the following state of India?
(A) Punjab (B) Rajasthan
(C) Odisha (D) Tamil Nadu

(E)  Question not attempted

“FNAT” ITH AT a4, Ffafad § 8, TRa & ford Tsa H qrg SITd 27

(A) U (B) US&IH
(C)  ehfeam (D) dfterTg
(E) raid 9

92  Which of the following statement is most appropriate about the Himalayan Rivers?
(A) Nature of flow is seasonal and dependent on monsoon rainfall.
(B) Catchment area is very large.
(C) Their place of origin is plateau.
(D) They flow through the fixed course with well-adjusted valleys.
(E)  Question not attempted
femrerft Afeat o s H fmfafad o @ wH-a1 Fow aa) 3ugw &2
(A)  ETE T WaHfT HIGHT & S AT et ot Frit e 2|
(B)  SICTIE & 9gd ael 2
(C)  37oRT 359 ¥ UBK 2
(D) 3 3T=a! T | GHIEIS =feat o arer g am § g )
(E) orfaiaug
93  When the primary tributaries of a river flow parallel to each other and secondary tributaries join them at right
angles, the pattern is known as
(A) Trellis (B) Centripetal
(C) Radial (D) Dendritic
(E)  Question not attempted
TS T ot Sl ST HERIeh T, Teh GO o HHT= Sed &l S fader seree Afeat 37 awehior o firerdt
&1, T 39 % shl el ST &:-

(A) SITAAT (B)  SAfwehst
(C) = (D) FHWHIq
(E) Srgaiaug

RI5S| Q) 18 [ P.T.O.



94  Whose disciple was Dhanna?

(A) Kabir (B) Pipa
(C) Ramanand (D) Dadu Dayal
(E)  Question not attempted
T forerenT fRrser om?
(A) HER (B) dar
(©) THM=< (D) <1g qaret
(E) raid 9
95  In Rajasthan, inserting a gold nail in the middle of the teeth by a woman is called:-
(A) Damna (B) Borla
(C) Choonp (D) Baari

(E)  Question not attempted

TS ¥, forelt Afeer R 2idl o si=r € 3hT Shiet SRTHT shacd T -

(A) =M (B) T
© = (D) T
(E) a9

96  Tropical thorny forest is found in which of the following regions of Rajasthan?
Choose the most appropriate option from below:
(A) Udaipur (B) Jaisalmer
(C) Baran (D) Kota
(E)  Question not attempted

IR T SHiaR o, TSTEA o fHFferiad § © frer &5 1 91 SiTq 22

1 4 & waw 3age faeed 94
(A) X (B) SHW
(©) @m (D) @i
(E) 3rgaid 9
97  “Kolayat lake” is situated in which of the following place of Rajasthan?
(A) Bikaner (B) Udaipur
(C) Ajmer (D) Churu

(E)  Question not attempted

“THIATIA g TSrea o feferftaa 3§ & forg gorm & feera 22

(A) SRR (B) 3R
(C) I (D) %
(E) 3rgaid 9

98  Babool, Khair and Khejri species of trees are found in which of the following forest lands?
Choose the most appropriate option from below:
(A) Montane forest (B) Tropical Thorny forest
(C) Tropical Evergreen forest (D) Littoral and Swamp forest
(E)  Question not attempted

e, G 3R BIE STy ok et Fefaftad 3 @ o o & & o s 82

1 7 @ waw 3ug faewed I

(A) I (B) Ik HicqR o
(C) Wk SRR o (D) T F TG o

(E) Srgaiaug

RI5S| Q) 19 [ P.T.O.



99  The remains of Ganeshwar civilization are found at which place in Rajasthan?
(A) Bhilwara (B) Neem ka Thana
(C) Udaipur (D) Hanumangarh
(E)  Question not attempted

OV G o ST TSEAT H ford T I T 82

(A)  iefarer (B) 1 T 9T
(C) 3L (D) TIHHTE
(E) 3rgaiid o

100 Who was the founder of the Chauhan Dynasty of Ranthambhore?

Choose the most appropriate option from below

(A) Govind Raj (B) Hammir
(C)  Prithviraj III (D) Veer Narayan
(E)  Question not attempted
TOTTIT o <G ST o HEATI i A2
et o & ward 3uge foehea I
(A) e TS (B) ®HR
(C) g - 11 (D) SR
(E) rgaid o=
101 -1 Fi-11 § gafora i :
-1 (SIS o qeRHIRT I163) geit-11 (Rt wwmTes req)
a.  ABRIDGE L 3
b.  ANNEXURE . gagor
c.  AMENDMENT II. ¥
d.  APPROVAL V. dmed
et few e ferepedt # @ watfares 39g ST AT :
(A) a-ILb-TILc-IV,d-1I (B) a-1V,b-Lc-II,d-1I
(C) a-ILb-IV,c-TLd-1 (D) a-NLb-ILc-IV,d-1
(E) a9
102  ‘Acknowledgement’ T &<t Fqic 1T
(A) 3fva (B) dradt
(©) famfua (D) THUN
(E) a9
103 FrfcIiad o forcii Seat 1 STETa I e-
(A) G -gssH (B) EJTR - STH
(C) faftr - sigeR (D) fafer- fee
(E) 3rgaid o
104  3TepTedeh Tg ‘U ot fferiad o & wes 3ref 7 8-
(A) =HE (B) w5
(C) & (D) S
(E) Srgaiaug

RI5| @ 20
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105

106

107

108

109

freafrfiaa & @ <sfg-3far s m a1 31 8-

(A) 3T - ITW (B) IS -
(C) e - fegm (D) 9 - 3w
(E) a9
frfafiad # SrqeaTee gaqm -
(A) ® (B) @
€ 4 (D) 9
(E) raid 9
Match List-I with List-1T
List-I (Characters) List-II (Contrasting Traits)

a. Flower color L Green/ yellow

b. Pod color II.  Violet/white

C. Seed shape II.  Round/wrinkled

d. Pod shape IV. Inflated/ constricted
FEt-1 I FEft-11 & GATd T :

greft-1 (fereream) Fit-11 (Femedt om)

a. O L g/dier

b, we T I SEse

c. N IHR L. e /grier

d. el TR V. el g8 fandi gg
Choose the most appropriate answer from the options given below:
e fq T forkedt # @ wariferes 3uge S g :
(A) a-ILb-Ic-IV,d-1I B) a-ILb-Lc-TLd-IV
(C) a-Lb-ILc-ILd-IV D) a-Lb-I c-IV,d-III

(E)  Question not attempted / ?ﬂgﬁi?a Iq

The Thalassemia gene is present on

(A) XX of 23" pair of chromosomes (B) XY of 23" pair of chromosomes
(C) an autosome (D) mitochondrial DNA

(E)  Question not attempted

DEEIERIESIE) T IUTE BT &

(A) 239 U SIS % XX (B) 239 U SIS % XY

(C) e SAfciT U (STere) (D) AR ST

(E) Srfaiays

Select the Francis Hary Compton Crick’s Ph. D. thesis title-

(A) X-ray diffraction: polypeptides and proteins (B) X-ray diffraction: nucleic acids

(C) Transformation in Streptococcus pneumonia (D)  Semiconservative DNA replication model
(E)  Question not attempted

hiTee &t shrede foreh o diu=r, €5 3y o e 1 == i -

(A) XX fetheae: dielierse e T (B) XX fesham: faer tfire
(C) DTN 3 ELIHIHE AT (D) Ofiheraied € T Tt Hied
(E) 3rgaid 9

RI5S| Q) 21 [ P.T.O.



110

111

112

113

The literature which is engraved on inscriptions, coins and seals is called

Choose the most appropriate option from below:

(A) Folk (B) Epigraphic

(C) Regional (D) Traditional

(E)  Question not attempted

% Tfee St i, feent qom gt W Ihiv 2T 2, Hifee el el
o i & e e o

(A) @H (B) YU

©) &fl (D) TR

(E) Igaid o=

‘Languriya song’ is related to which god/goddess?

(A) Jeen Mata (B) Kaila Devi

(C) Khatu Shyam (D) Shree Mahaveer

(E)  Question not attempted

e T e et el & i 27

(A) SftoraTar (B) et

(C) W™ (D) #tHErER

(E) Srfaiays

What is the theme of World TB Day-2024?

(A) ‘Yes! We can end TB’ (B) ‘Invest to End T.B save lives.’

(C) ‘Wanted: Leaders for a TB-free world’ (D)  ‘The Clock is Ticking’
(E)  Question not attempted

fore &t oft (qutah) feaw 2024 1 off (A forern) T 82

(A) &, & 3 it Ted W Hehd 81(IF | 1 T U el

(B) 21 ot wew i % forw forder o, Sftert st (gaie ¢ e isit @ ofresd)

(C)  =nfedr: & oft 7k fore o FAIQ AT (Sieee: wiTed BR T Il - 361 aes)

(D) =< I W & (3 FATh 3T i)

(E) raid 9

Keoladeo National Park is located in which place of Rajasthan?

(A) Barmer (B) Bharatpur
(C) Dholpur (D) Rajsamand
(E)  Question not attempted

FHAATGS TSI JeT TS | fory T o feera B

(A) ST (B) WX
(C) g (D) TSTEHE
(E) Srgaiaug

RI5S| Q) 22
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114 Match List-I with List-IT

List-I (Folk art) List-IT (Material)
a Kavad L Paper
b Phad II.  Colour
C. Paane III.  Cloth
d. Mandana IV.  Wood
HAT-1 1 gEAl-11 & gofora i :
eI (e hen) Fef-11 (T
a EACKS 1. quT
b. W8 L.
c. WM L. 9er
d.  wie IV. el
Choose the most appropriate answer from the options given below:
et few e foeheat 7 @ waffares Sug S IHT
(A) a-IV,b-T,c-1,d-1I B) a-ILb-Lc-IV,d-1I
(©) a-Lb-ILc-II,d-1V (D) a-NLb-1V,c-1,d-1

(E)  Question not attempted / 313?”?6 Iq

115 Which of the following text is composed by Jambhoji?

(A) Mukam (B)  Vishnoi Dharmaprakash
(C) Amavsya of Falgun (D) Alakh Niranjan
(E)  Question not attempted
e o @ B o T (Text) SIS grr Ua 22
(A) THH B) fosng evdyeprar
(C)  STHEEAT HTH B (D) 1@ s
(E) Igaid o=
116 Who was the first person to call that region ‘Rajputana’, which is now known as Rajasthan?
(A) George Abraham (B) George Thomas
(C) George Alexander (D) George Tod

(E)  Question not attempted
I &1 T TSTYAMT e ATet T STk bt o S8 3TaT Toreer™ ohat SiTe 22

INEEEEEIR (B) Sitst Ummd
(©) i TomRiE (D) 3
(E) 3rgaid 9
117 Which one of the following water bodies separates the Andaman Islands from the Nicobar Islands?
(A) Gulf of Mannar (B) 5°Channel
(C) 10° Channel (D) Arabian sea

(E)  Question not attempted

freaferfiaa o & shiv-u1 Sot e, STeA™ T que ol Fehism ST §He U ST idl 72

(A) WA @ (B) 5° =Na
(C) 10°<d (D) 3T EIR
(E) rfaiaws
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118 Post- Independence of India how many states of Rajputana (Present Rajasthan) were elevated towards the
Indian Union?
IR Shl TIAAT o6 o1& TSTIAHT (AT TSTEIT) 3t fohat e st e & wmiftet &t 152

Choose the most appropriate option from below

7 7 @ wa@ 3ug fawes T
A) 17 (B) 18
<© 19 (D) 20

(E)  Question not attempted / aagai‘{a Iq

119 The executive powers and functions of the Governor are:
a. All executive actions of the Government of a state are formally taken in his name.
b. He cannot seek any information relating to the administration of the affairs of the state and
proposals for legislation from the Ministers.
c. He can make rules for more convenient transactions of the business of a State Government.
d. He appoints the Chief Minister and other Ministers.
Choose the most appropriate answer from the options given below:

(A) a,banddonly (B) b,candd only
(C) a,canddonly (D) b,aandconly
(E)  Question not attempted

TSI il hFRRT TRt SR et 8-

a. TSI YR h aeft FrEfrr smrianiedt Sg=miieh &9 § 37ek A9 YL <l ST 2l

b. 8 USH o WRITEA ¥ GF(-aa shis HI TR TT ST o T&dTa o o H HERIT 8 SR el 7
gohd 2

c. I UST GLHR & HIHHTS o ek GadTseh HaTerd o [oTq, [+ ST e &

d. %Wﬁtmuﬁﬁﬁﬁaﬁmél

qﬁ%%@q%ﬂﬁﬁmﬁ\%mwaﬁ

(A) wada, b3 d (B) w&aADb, c 3R d
(C) Facla, ¢ 3Rd (D) FaAb, a3 ¢
(E) Srgaiaug

120 Which one is the correct lens formula?
(Here symbols have their usual meaning)

e o 8 o e g A AT e?
(TET Tefieht ot =T fafi o1 2)
@ 7oty ® Ty
© Fou-w ® -7

(E)  Question not attempted / aao:lﬂiia 99

121 Horizontal component of earth’s magnetic field at a place is 3.2 x 107> Tesla, and angle of dip is 60°. The
resultant intensity of earth’s magnetic field at the place is -

Torelt Tty R qeaft o Srarchiar &1 T &t Bea 3.2 x 1075 SEAT & TR AH hi0T 60° 2| 36 I YA o Jraleh i
& ST afomd} e -

(A) 32x10°T (B) 1.6x107°T

(C) 64x10°T (D) 128x10°T

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99
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122 Which mirror will show a wide area view?
(A) Plane mirror (B) Concave mirror
(C) Convex mirror (D) Parabolic mirror
(E)  Question not attempted

f3he ThT 3 T 3 SR | foreaTiid v &t 1w erT 82

(A) HHdSA U (B) TaqeT gUur
(C) I« guor (D) A gUr
(E) rJaid 94
123 Which of the following statement is/are true?
a. Metal oxides are acidic in nature.
b. Non-metallic oxides are basic in nature

Select the most appropriate answer from given options:

(A) Onlya (B) Bothaandb
(C) Onlyb (D) Neitheranorb
(E)  Question not attempted

e 5 & 9 T& o w272

a. T % HATATES, Wehfd H STl B &
b, 3TUTq % HTTSE, VT AR B &

e fow o forehedt & & watferes suges ST AT

(A) Hada (B) 3dFia3Mb
(C) wHadb (D) TMa3fXATE Db
(E) 3rgaild o

124 A greenish coating that develops on copper utensils on being exposed to moist air is due to the formation of

(A) Copper oxide (B)  Copper carbonate

(C) Copper sulphate (D) Copper nitrate
(E)  Question not attempted
el % ST T 3T - AT H AT W T S o T 37 T B I 39 B S g
(A) HI ATFES (B) HWHEMS
(C) W HHS (D) IR ATELE
(E) 3rgaid o
125 Which of the following does not feature in writing a Notice? Choose the correct option.
(A) Signature (B) Time, date and place
(C) Minutes of the meeting (D) Agenda of the meeting

(E)  Question not attempted

126  Choose the most appropriate word to complete the given sentence:

I was delighted the present you gave on my retirement.
(A) from (B) about
(C) with (D) for

(E)  Question not attempted
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127 Choose the most appropriate word from the options to complete the given sentence.

Despite her illness, she insisted going to work as she had plenty of pending work.
(A) on (B) in
(©) for D) to

(E)  Question not attempted

128 Choose the most appropriate English word for the given word:
hieraT
(A) transgress (B) transcription
(C) transcontinental (D) transfigure

(E)  Question not attempted

Read the passage carefully and answer the questions that follow:- (Q. 129 to 133)

Asthma is a respiratory disorder that we have known about for hundreds of years. However, there is
still no cure although drugs, such as steroids, and inhalers can alleviate the symptoms of an asthmatic attack,
and there is still no known cause. Worryingly, the number of people who suffer from asthma is increasing
rapidly. In some countries in the world the disease is becoming more like an epidemic.

Because of the huge increase in the number of cases in the last 30 years, there is a widespread feeling
that some kind of lifestyle change is to blame. Since asthma is a disease which impairs breathing, many
researchers have thought that a reduction in air quality might have caused the increase in it. However, it is
now thought that although the pollution in the atmosphere might exacerbate the condition, it is unlikely to be
the cause of it.

For a considerable time, household dust mites were thought to be a possible cause of the condition, but
attempts to keep these to a minimum have not reduced the numbers of asthmatic sufferers. Far from it.

Now researchers are looking at diet to find the culprit. The period over which asthma has increased
dramatically in some countries coincides with a period when there have been major changes in diet in
countries which have seen the highest rates of increase. It was first thought that some kind of dietary allergy
might be a major factor.

At the moment, researchers looking for a dietary trigger for asthma are considering whether a lack of
antioxidants could be responsible. Their possible protective powers have been much discussed in connection
with other diseases. Now, doctors are wondering if a diet rich in things known to contain high levels of
antioxidants, such as fruit and vegetables, would prevent asthma, especially if such a diet was followed by
pregnant women.

Meanwhile, the schoolbags of more and more children contain an inhaler as well as books and

notebooks. Something at school could trigger an attack and they must be prepared.

129 The use of steroids and inhalers for asthma is to:
(A)  healit (B) relieve it
(C) cureit (D) intensify it
(E)  Question not attempted
R15 ] @ 26 [ P.T.O.



130 For a long time it was believed that although one of the following might exacerbate the condition (asthma),
it is unlikely to be the cause of it:
(A) anunhealthy lifestyle (B) the poor air quality
(C) insufficient exercise (D) wrong dietary habits

(E)  Question not attempted

131 Identify the statement which focuses on the newest possible cause of asthmatic attack:
(A) The pollution in the atmosphere probably exacerbates the condition.
(B) Household dust mites were thought to trigger the attack.
(C) A diet deficient in antioxidants may be responsible for the condition.
(D) Dietary allergies might be a major factor.
(E)  Question not attempted

132 Which of the following is not likely to trigger an asthmatic attack?
(A) Cigarette smoke (B) Dust mites
(C)  Fruits and vegetables (D)  Air pollution
(E)  Question not attempted

133 Match List-I with List-II

List-I (Words) List-I1 (Antonyms)

a. alleviate L assuage

b. impairs II.  aggravate

C. exacerbate II.  leisurely

d. rapidly IV. repairs
Choose the most appropriate answer from the options given below:
(A) a-Lb-ILc-MI,d-IV B) a-ILb-IV,c-Ld-1I
(C©) a-lILb-1V,c-1,d-1I D) a-1V,b-Lc-1,d-1I

(E)  Question not attempted

134 What is the full form of “EEPROM™?
(A) Electronically Erasable Programmable Read - Only - Memory
(B) Electrically Erasable Programmable Read - Only - Memory
(C) Erasable Electrically Process Read - Only - Memory
(D) Electrically Erasable Programmable Read - Memory
(E)  Question not attempted
“EEPROM” & 901 &9 &:
(A) SIS SSae e e 3Tt BHRT
(B) Soifgdhelt ol WRiee g et A
(C) IS SAFIhed! THE TS el HH
(D)  Saifogehel! Stoeet STHES € AR
(E) Srgaiaug
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135 Which day has been declared as the ‘National Space Day’ in India?
(A) 20 August (B) 23 August
(C) 25 August (D) 27 August

(E)  Question not attempted

frafafaa d @ fra fea et ya § <adir siafeer feaer =ifya foram mem 22

(A) 20T (B) 23 37Rq
(C) 253TRq (D) 27 FTEq
(E) Srpaiaug

136 Blood groups in human population is an example of

(A) Co-dominance (B) Incomplete dominance
(C) Pleiotropy (D)  Aneuploidy

(E)  Question not attempted

TRAENE ARSI U Qe 8l

(A) 9T - gwTfear (B) Al swferar

(C)  sgwwTterar (D) IrgforaT

(E) i yy

137  Find the incorrect match from the following:

(A) Elephantiasis - W. malayi (B) AIDS-Retrovirus

(C) Pneumonia-E.histolytica (D) Ring worm-Epidermophyton
(E)  Question not attempted

o i 81 1 2 el Y S T AT

(A)  Erefiif (et gy, ararf (B) TSH (AIDS) - IarRe

(©) Tmifar - 3 feweiferfear (D) Te (faram) - TfiegieEeT
(E) a9

138 Which one of the following is not a viral disease?

(A) AIDS (B) Typhoid
(C) Dengue (D) Influenza
(E)  Question not attempted

Tt 5 & o1 | e fereToy St T e 22

(A) TZH (AIDS) (B) eEwEE
© =1 (D) FRIEST
(E) Srgaiaug
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139  Which one is not an initiative under “Skill India Campaign™?
Choose the most appropriate option from below:

(A) Pradhan Mantri Kaushal Kendra (B) Pradhan Mantri Jan Arogya Yojna
(C)  Skill Saathi Counselling Scheme (D) Industrial Training Institute
(E)  Question not attempted
“ThHITTST TR ST & ST i € Tae Tet 82
1 4 @ waw 3uge faeed 94
(A)  TUTHAT HITTA g (B) T ST AT AT
(C) Tioret el gt w=him (D)  Tifes ufsreror deerm
(E) raid 9
140  Which of the following is not a Rabi crop in Rajasthan?
(A) Wheat (B) Barley
(C) Mustard (D) Rice

(E)  Question not attempted

TeredTe ¥ famforfigd & @ -t o woer 78 82

A) T B) S
(C) TEt (D) =TaA
(E) 3rgaid 9
141 Where is the Public Service Commission of Rajasthan located?
(A) Ajmer (B) Jaipur
(C) Jodhpur (D) Alwar
(E)  Question not attempted
TSTET Aok ST STTANT hal ford 22
(A) I (B) ST
(C) S¥q (D) 3Tl
(E) aid 9
142 By which constitutional amendment, the Urban Local Self Government was given the status of a Constitutional
Institution?
(A) 44" Constitutional Amendment (B) 74" Constitutional Amendment
(C) 73" Constitutional Amendment (D) 42" Constitutional Amendment

(E)  Question not attempted

fore w3efees dmree gRT wredl ST ST SRl EoTien ST ot &S faar T

(A) 4431 Geelaes Geme (B)  74at Gaeieh HIMe
(C) 7391 GaHTfeh GeT (D) 4247 Gaeies Tme
(E) 3rgaid 9

143 Panchayati Raj is a system of:
Choose the most appropriate option from below:

(A) Local Government (B) Local Administration

(C) Local Self Government (D) Rural Local Self Government
(E)  Question not attempted

EEIRGIRIERCT T T 2|

frfafea & @ wa@ 3agew foskea 74

(A) TR GRR (B) T yeIEA

(C) T TaeTme (D)  TTHIT T ST

(E)  3Taiea =1
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144 The concept of ‘Directive Principles of State Policy’ in Indian Constitution was borrowed from
(A) German Constitution (B) Irish Constitution
(C) Japanese Constitution (D)  American Constitution

(E)  Question not attempted

AR Giqer 3 Usg & Hifd (v frgial it seamon LESIRIEE
(A) ST Efgem (B) AR wfaem

(C)  SITUH % e (D) 3R & Gl
(E) 3rgaid 9

145 The Rising Rajasthan Global Investment Summit 2024 is being organised in

(A) Jodhpur (B) Ajmer

(C) Bikaner (D) Jaipur

(E)  Question not attempted

TS TSRS Tt TaeeHe |fie 2024 T RIS EEERISIRGIE
(A) S (B) 3T

(©) e (D) AR

(E) a9

146 Select a figure from amongst the options which will continue the series established by the four problem
figures.
faw e forshedt & & Ush TR T = T ST = THEAT STt T Tfua Soft st St @t
Problem figures / AT HTHTT:

N

o N L.
pd <P

i 1ii v

)

(A) Lio ® | A

O—
© w (D) 47

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
R15 ] @ 30 [ P.T.O.




147 A man is facing North - West. He turns 90° in the clockwise direction and then 135° in the anticlockwise
direction.Which direction is he facing now?
(A) East (B) South
(C) North (D) West
(E)  Question not attempted
e STk I-1EH hT ST T ToRAT ST 81 I8 SFeTUITard foxT(atien a1ge) # 90° 3 qeaeld arrad (eiareiion
aTgSl) et & 135° qga 21 37 o7e fopwt o o 7@ ook e 82

A) (B) gfeqor
(C) W (D) ufm
(E) 3rgaid 9

148 32 students are sitting in a row facing towards North. If Nehal is 14" from the left end then what is her

position from right end?

32 Toremeff 3T T S 7@ Td T T Ufth o o3 2| Al et a1 SR 149 T W 2 dl SHehT T STfe SR H
T2

(A) 17 (B) 18

©) 19 (D) 20

(E)  Question not attempted / SFTAT I

149  Arrange the following words as per the English dictionary and find the second word:
SIS SrseshiaT o AFAR rAferiad wrsal bl saarfterd shi 31 HHTTHR T T8 T <13

charity, carton, caravan, cardigan

(A) Carton (B) Caravan
(C)  Charity (D) Cardigan
(E)  Question not attempted / ?ﬂgﬁi?a Iq

150 What number from the following options will come in place of ? in the given series?
&t 11g ooft 7 freforfaa foercat & 9 o6 ©f @ 2 3 T W S
3,15,35,63,7,143
(A) 125 (B) 81
© 75 D) 99
(E)  Question not attempted / Cﬂflﬁﬁ?f B
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I US| 31 Uadi & - T Oia o7 fzdta 9id, Ther aar w it a7 oI @ ud gdienyt I
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